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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. (A) Choose the right alternatives :
' 1x5=5

g Tes iy Sieved s

() Which one is the long-term
financial decision ?

Wi R «Resml WL
(@) Dividend decision
SN AR
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(b) Working capital
I T

(c) Profit maximisation
e Ffge

(i) Which one is the long-term source
of working capital ?

AT LR T B (IO 2
(a) Reserves

RS

(b) Bank credit
@R W

(c) Depreciation funds
e ffer

(i) An appropriate capital structure
should have

oy TR NoN9 (IS T
(a) profitability
TALRIRRA
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(b)

(c)

(@)

solvency

FRETOl

flexibility

T el

None of the above

GAg] B8 T

(iv) Which one is the internal factor
for determining capital structure ?

W@meﬁqwﬁﬁi CRRICOI 2

(a)

(b)

(c)

4 (Sem-5) FMM/G

Nature of business

TR A

Condition of capital market
T ITRE E

Nature of investors

RRcreRiR oS
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(v) Which one is remedy of over- ' viere e ~ifRiemi Fiies w1t RiRcanix

capitalisation ? | Frare st w231
SRR PR PRI ‘3 y _
| (i) Share capital includes debentures
(a) Plough back of earnings l and other forms of borrowing.
TR R | | T R SIS WA S GTHIRE

(b) High rate of earnings | SRR AP SRS

ST SR I : 1 (iij) Financial management does not
(c) Issue of shares and | help in profit planning, controlling
debentures cost etc.
o I Yol R R sifisr, Fires #iRs, I35 R
Wiy Fe TS 753 |
B. Write whether the following statements
are True or False : 1x5=5 (ivy A Finance Manager has to
O & OF ol 2 maintain liquidity rather than
profitability.
(i) Investment decision is not related
o R&m AR Mg T'F Aoeirs
to working capital management
el e {14 |

decision.

4 (Sem-5) FMM/G 4 4 (Sem-5) FMM/G S Contd.



(v) Investment decisions relate to
investment in capital assets only.

ﬁﬁmﬁﬁmwmwﬁﬁmmaﬂ@
isiof

2. Answer the following questions. in about
30 words each : - 2x5=10

weTe Al ePTRe B 2ifiH! 30 *ws fowts By ¢
(a) Write the methods of capital budgeting.
TN ooy R o & e

(b) State different types of dividend policy.
Frojieiy Rfew ~feibrz & e

(c) State the finance function.
Finance function-3 K3 fomit |

(d) State the meaning of pay-back period.
Pay-back period-3 Raga it

(¢) What is stock dividend ?
Stock dividend Wi & 3@t e
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3.

.Answer the following questions within

150-200 words : (any four) 5x4=20

o7 fral erTyRs Tet 150-200 1971 foess Bt ¢
(Rieetent sifst)

(@)

(b)

(c)

@)

State the 11m1tat10ns of fmanmal

management

8w ~iRotemi Mumerng & /e

Distinguish between financial leverage
and»-operating leverage.

Financial leverage ®I¥ operating
leverage-3 “iday |

State the consequences of under-
capitalisation.

SR-FEA P TR [ e

Define opportunity cost of capital. How
is it computed ?

ﬂﬁwwmwﬁmlﬁﬁwmm
Tfredl =2
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(e) Write a note on optimum capital

Answer the following :

structure.
sifie e 1owe Raew @Bt Bret ot

10x4=40

were fAal 2P Ted B ¢

(a)

(b)

Describe the scope and function of
financial management.

RElT IR ~I R =% TR SNiEs= 31 |
OR / §21

Describe any two theories of capital
structure.

TR N R 75 I S 3

Elaborate Modigliani and Miller
hypothesis of dividend decisions.
Examine its validity.

Aepl AR Modigliani W% Miller @R
SRSYIFIPTZ ST =1 O 2R validity
AT = |
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(c)

4 (Sem-5) FMM/G 9

OR / &%

Elaborate the determinants of capital
structure of a corporate entity.

i TeR Em R MR Sotmmeng
& e

What is overcapitalization ? State the
impact of overcapitalisation on
consumers, firm and shareholders.

SEE I & qwie g, Afdw e
TN @9 RS SRR oo STt 341 |

OR / a1

Mahindra Motors has net operating
income of Rs. 50 lakhs. It employs
Rs. 120 lakhs of debt carrying 15 per
cent interest charge. The equity
capitalisation rate applicable to the
company is 16 per -cent. What is the
market value of the Mahindra Motors
under net income method ? Assume
that there is no tax.
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(d)

TRw TGS o (AEFR) BAEDR T T 50
1) 5t 1 T 15% F© AR 120 FANR 5 39
ACIE T | % FIAIRR CFa© S0 3330
e PBeTRTST e 16% | T 9 o1& (net
income method) SKINS WE® 6T IS
T 2 TS @il 31 AR I 4R @t

Define working capital. What
conside;aﬁons are taken into account
in estimating the amount of working
capital reciuirement in a newly started

corﬁpany.

DRI TR TG T TG @AIRR CFao
TR o R TIRE SE 1)
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OR / Gt

“Profit maximisation is not the adequate
criteria to judge the efficiency of a firm.”
Explain the statement.

“oife iR @3 fSDNT stmifel R
& A T 17 S 40 |
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